Where is a
cat’s paradise?

To discover the answer to the riddle,
work out the problems below. Then,
find your answer in the code and write
the letter of the problem above it.

@ £3.30 + £4.45 = @ £2.20 + £4 =
£2.25 + £3.60 = @ £2.20 + £5 =
@ £5.85 + £4.75.= @£4.4o + £6'=
® £4.60 +£7.45 = @£4.5o + £6/50 =
@£2.9o + £5.45 = ®£3.75 +£2.25 =
@ £4.90 + £5.30 = @£5.75 +£4.25 =
@ £7.20 + £3.90 = ®£6.55 +£2.45 =
@ £45.75 + £34.25 = ®£3.85 +£4.15 =

@ £23.50 + £72.45 = ® £2.95 + £15.05 =

@ £55.40 + £22.45 = @ £2.90 + £4.60 =

£7.75 + £6.20 - £80 » £6.20 » £9 » £12.05

£6 » £11 « £10.20 » £6.20 « £80 * £95.95 » £11
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